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2
7 Consider the differential equation dﬁ = 12}’ . Let y = f{x) be the particular solution to this
X
differential equation with the initial condition f{-1) = 2.

a) On the axis below, sketch a slope field for the given differential equation at the points
indicated. Sketch the p?jcular solution for f(=1)=1 \
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b) Find the solution y ﬂx) to the gwen differential equation with the initial condition
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9. AP Free Response — CALCULATOR ACTIVE
Al certain heloht, i tree wunk las a circular cross section, The radius Ri1) of that eross section grows al

a rude modeled by the Tunction
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for 02 ¢ o 3 where time ¢ s measured in years. Attme ¢ = {0, the radius is 6 centimeters. The arca of
i 1 L t s denoted by_s(1) fay= ¢
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() Write an expression, involving an integral, for the radius (1) for 0 £ ¢ = 3. Use your expression 1o
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(b1 Find the rate at which the cross-sectional area A(1) is increasing at time 7 = 3 years. Indigate unils

al medasure,
fer Evaluae J Yigyde, Using appropriate units, interpret the meaning of that integral in rerms of cross-

sectional area,
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10. 2016 AP Exam — No Calculator
11[\'

Lo Consider the differenitad equation — = (v — 2 X + 1,
v

) Find v = gon, the particular solution to the given differential equation with initial condition gith = 5.

(b} For the particular solution v = gix) found i part (a), find  km gix).
r—s oD

icr Lot v = o be the particulas sofution to the given differential equation with initial condition fel) = 3

. Ld . . - -
Find the value of —= at the point (1, 3i. Is the graph of ¥ = fix) concave up or concave down at the
(TN

point (1. 31 7 Give o reason for vour answer.

&y _ s )00 malya]= 3% *“*efj

G =
dx
@ (x + )dx )”“01'-‘1"3 ; "€

S /;;__ //XJ*”)AK

3
g X4
z’}ﬂf/_;l 3" )
Kn B T C 3
3%y

@1’); e (3e T 2
{ x..;pc‘ \—'k-ﬁé;uw-s-cus o
Q‘X/ = (3071

& f‘-f.‘-l nfi] X)+‘\
SN e T

~——

e N N
o

431 15 o Rt @S {’J’l-e_
Ax )

_ o 5 ncavl g A t {he
F’(ofh 0{; ‘/ “[(X) /15 C0 y
6)0""(.' (’) :‘}).

[heecanse OIJZ }
0!3)-' {‘J_)))



	Page 1
	Page 2
	Page 3
	Page 4

